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1.  Which acid is responsible for the metabolism of our body? .

(A) ~ HNO,

D) CH,COOH

. Blb 2 L adlén aueriélens IHDSSHE sryemmomer Sl ergi?

(4)  HNOy
® H,80,
© HCl

".(D) CH,COOH

2. . Which one of the following is not a Lewis Acid?

(A) BE
(B) AlCL
(C)  BeCl,

Yemaumeuamaipfiéy ergl ona o .-m:é;u? )
&) BE, -

®) Ac, -

© BeCl,

(D) SnCl,

A | S . B SIFOGS/16
: [Turn over



3. Pickup the correctly matched answer :

(@)

®

()

@

B
©)
D)

List1

CO(NH,),

CaSO4 . ZHQO
Ca(H,PO, ), -

KNO,

@ ® ©
2 4
4 3
3 1

1 4 3

= N =

.‘(d).

No=

List IT

‘Super phosphate

Urea

Indian Sali:pet_re

Gypsum

gilns @urr@gg,uuli(aeﬁm efaneowt CoiBESM0 :

@
®
@©

(d)

)

®

(&)
D)

U iguied I
CO(NH, ),

CaSO0, - 2H,0

.Ca(H,PO, ),

KNO,

@ ® ©
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Parasitic plants have some special roots called

(A)  Mycorhizae roots V Haustoria _
" (C)  Epiphytic roots : (D) Storage roots

el (Heirenil sreurhisetied sravliLiRon Apliurer Geurser ‘

(A)  owsCsrengsT ‘ . ®B)  epravGrflwur

(C) Qsmhm Caufrsar - D) Csilliy Gauirser

Substance which are used as respiratory substrates are
(&)  Carbohydrate, Fats and Vitamins

. (B)  Carbohydrate, Protein and Vitamins

| W Carbohydrates, Fats and Protein

(D) Fats, Proteins and. Vitamins

" SUTESEDE LWETLHID seunssgen QUITEsL_sermeuan

A  smiGurenan Cri, QampliL] HmID eneil_L LlemseT
(B) 51Tr'r(3urre“6)6,1_ﬁjlq.@u'1;, L|gsLb HoIbd evaut L ilensen

©C) amCurenany Gy, Wamepliy LHHID LTSD

(D)  damupiy, yrsh wHmib m,mLLL&%ﬁf&iGiT

Which one of the following statement is not correct?
(A) ' The degree of obesity is assessed by BMI
(B)  Normal BMI range for adults is 19-25
- {C) Persons having BMI range above 19-25 are consniered as obese
% Men and women havmg BMI level below 19-25 are consulered as obese
Epsaranilbd smbhnsafiler seupren spdlamer semrhidiy
(A) 2.6 Lgsoener 51e ereni_é @GBS Le @HlrnA_ambd
®B) Quiiusasirsafiar BMI wmang) 19-25 eramiid =yemalich @u_lsnurraa @@a;@m
(C) . BMI 19-25 oiflaid o girar éc{,ém‘l' Hmb Qi @mm.trm@.srrasm
®O) e Log_)gum @ummﬂm BMI 19-25 SODEUTS 2_GTeTETSHET @@m_rrmm?ra;m

The enzyme that helps in blood clottmg is .

M Prothrombinase T (B) . Fibrinogen
(C)  Fibrin . (D) Phospholipids
Br5sb 2 mpsafile 2 Haib erarensLd (Glpri‘g‘,l)
7:V) q@tfng@unm@@mdv - B muﬁnﬂ(@mng&r
(C) eurifler - D)  urCurdlCdGadr
5 | ' SIFOGS/16
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8. Whag is called imaginary lines join different places with same temperature on the map.,
j Isotherms (B) Isobars o
(C)  Isohyte ' (D) " Isohaline
auerLLgHd @Cr Siarajat w Qesiuflemaamus Glasrrewru].@a;@m @l_rmas@nerr @mema;@m SHLIMET
Cari_iyar QLT eremen?

@)  swlaiusGar@m ] (B) &0 @{@(&,gé;@&ﬁ@
C)  ywsHu Grens - (D) wsy CrenasGam(
9. ———— decides the economic growth of a country. '
(A) _ Export : ' B) Import
Trade . _ " (D) Transport
: Gurr@mrrgmy euerié&lenw) Bliranrud &S ms.
&)  gpomud B Qpéeng
(©)  eumesflub (1) QUTSSSHD . L D) Cursgeursgl

10. Inthe World the density of populatmn is very high

(A) . Bangladesh ‘ Monaco
(C) Australia X D) " Srilanka
" 2 dlé se|b Sifswrar é&seT Qsrms 2L T58 Qe BrE erg? ’
(A) Guréw;rrmgﬁg,m.b . . ‘ B) QuremGasr ~
© <dCreur ' @) yheohsr
11. ‘Intensive cultivation means
L Produce more in a small area

T In Alluvial soil

III. Produce only for family members

IV. No participate in trade ,

(A) Ionly . (B) Ionly

(€) Both I and IV BothTand IT .

Sefly Cauermaiorento Grem_lgj . ' :

L G@bs lere fosdd oiHs 2lenay &mugﬁ

II.  euaired Loam 2 drer LGS penL Qumdlmg

. @Owuepuais@Epse LG 2 Huss

IV. @Gaems Gauanmaran aaflssdo FRLbelg Gdama
- @) Tw@p . o ® oo
(O Topps IV @eneo | O Iopmd I @remen -
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12.. South Indian Liberal Federation was ealled as

13.

@) -
®)

©)

Janatha Party
Swaréjya Party

‘Congress Party

' K Justice Party

GaearaiibSu po 2 flab&Espad erelalmn aPESLILILL §|?

(A)
(B)
©)

©

MenST &8 R . o
SwIyrEal Pl
sridye s 8

£85 5.8

»

Wch of the following is correctly matched?

L.

- IL

ITL.
(&)
®)

©) .

7 Llandln

Maheﬁdravarman —  Rock cut teﬁlple
. Narasimhs;lvarmanf - Singie stone Rathas

Raja Simhan - _ Mahabalipuram shore temple
TandII '

IT and ITI

I and II‘I

: &@m@mm&uﬁ)@@ argl sflursl QUTrmSSILL. BeTarg?

L

II_. .
1L
@

®)

©
)

' wCspHiTaioe — @L_mebq‘(&srraﬁ}eb '
"IB'IJ'@LbLbQJfl'LQG'OT o RHePPESED THL

 pITR&bLoGH - ﬂ' LDG.'»I'I'I'_IGLS]L]UL.D‘ a;L;basm:;r Gamelled
I ‘LDﬁ).QJLb I
I wpmib 1T

! 1oHHILD 111

I, T wipmih IIT

7 | SIFOGS/16
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14.

15.

Cémsider the following statements and select the correct answer :
Assertion (A) : Branding of horses (Dhak) was introduced by Allauddin Khilji

Reason (R) :  To avoid false musters

{A)  (A)is true (R) is false

(B) “Both (A) and (R) true but (R) is not the correct explanatlon of (A)
(C)  (A)is false (R) is true
Both (A) and (R) are true
&G o ereraupenns Qaranm(h sflwirar efientwarl
saphm (A) : edorss G0 Cur@id (575) apepenws @;Gorrmgf;m Slevadl = @@&uu@ggﬁl@‘rrrrr.
sryewd (R) . Cumi u@pHweddsiiL GHapseer LIHDHTOG E)(HES
@ ) s B s

. @) (A womib (R) @reir®ibd 2 amentd yeumreD (A) 55@ R) sfwiren sflemssid @evana

© @Wpop®sf
O @) wipd B) Grein@io 2 e

Match the following :

(a) Vande Madharam 1.  Rabindranath Tagore
.(b) National Anthem 2. . Dr. Ambedkar
(¢) Aligarh Movement 3. Bakkim Chandra Chatterjee
(d) Bahiskrit Hitkarini 4. Sir Syed Ahmed Khan
(a) (o) (0) Ad)
3 1 4 2
®B 1 3 2 4
©) 2 4 3 1 '
® 4 2 1 ‘ 3
Gl rr@‘e_'ﬁgw; : _ .
(®  upGs oy 1. QreSBHIBTS HTEnT
®) Gg,#lu:l Es1D 2. &Lt SbCUISHTT
(©) eSlsmr @u_lésa;to 3. L&ED shdly FLL ) ' o
(d) uHavdAL A smhent 4. ET EWIG] NHDF STET S

@@ . ® (© (d)

(A) 3 1 4 2
@ 1 3 2 4
© 2 . 4 3 1
D) 4 2 1 3

SIFOGS/16 * : i



16.© Who among the followmg was/whre the membel of Swalaj Party?
" L. - Mothilal Nehru - -
L Sardar Patel ‘ . :
III. Mahatma Gandhi ' '
(A) TIandIl o : M Ionly -
(C) ITandII : . O) I, TandIIT
© s sl fuler sjanwinded o pldenymes @@{_ﬁg@un&sm
I Curdlerd Crm

11 gignm uGLe

III.  warswr skl . :

@) Tuwpmpll ) B) Iw @b .
©) I wpgwo I O LIIwpmod IO

17. The following set of countrles follow socialist economy pattern

” China, Cuba, Vietnam, North Korea : .
(B)  Africa, Australia, America, Brazil .
(C) Europe, Japan, Australia, China
(D) - Srilanka, Pakistan, Bangladesh, Cuba
@GMGU@LD BIRGET FogTom QUITEeTTSTT (penpullanei] lﬂmumgjaﬁ]mmm.

(A e, S, wpmd, euLGsmilwm
B  <guSflssr, gevdGrelwr, = QwflgsT, ACTHD
(C)  gGymium, guiures, yevSlGradlw, Ferm
D) Sersr, urdlevgrer, LksarmGHey, SuLum .

18. . The new symbol of Indian rupee

@ £ . el

©. 8 D) €
@ Ui GHSG -
@ £ RN . ® X
© $ - L o €
19. Among the following, which does not include LPG in economics
(A) Privatisation o ®B) Liberaﬁsation
Generalisation ' (D) Globalisation
ﬁr(.gasmri_eumgﬁleo Qumaflwedlad LPG eramy GOILIERLIeIDmET GevaTss
A) pefluripwiorsd ®B) . STTTETLOWIDTEED
©) QungennliLBSsso : (D) 2 QEIDIILDTHED '
20. Identify the one among-the following sub divisions that does not form the subJect matter of
public finance - .
(A) _ Public expenditure . (B) Financial adm1mstrat10n
Factor price determination ' (D) Federal finance
Epeumeuemaupmer argl QuTgBHuAwesicr 2 dran_ssions Bame aarms GOssayD.
Q) Curgé dewellamser o B) B Hlmeunrsid ;
(©) amyenfl ene Siroreal Sz D) . s LT & apenp
A o | o 9 o * SIFOGS/16
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21.

22

23.

The reason for rapid increase in population is
(A) Birth rate and death rate increases
(B) Birth rate and death rate decreases

W Birth rate increases but death rate decreases
(D} Birth rate decreases but death rate incfeases
OISO @h&I OESETOSTENSESHTET SHITTanTLD _
4)  dpoy eisd wpmid Goiiy g oiflsfssd

® iy et whpid @O oSsth @@psD
© " Gpiy iz Sfshiss @i oSsd GEpsd
D) Qpiy &isb Ganba, @niiy eisnd SHafssdh

The High court demands some activity on the party of the body or person to whom lt is
addressed, It commands the person to Whom it is addressed.

(A)  Writ of Habeas Corpus
Writ of Mandamus

" (C) ' Writ of Prohibition

D)  Writ of Quo-Watranto
Qeig seudlu g GO L Qewme o Langwirs Qeiiws Carfl SHwenpid Qpiidésd <2 GHETT.

@éameanr  GpUdssiulLgn  GHLGLL  ogeer  oEQeume ol angursd Qe

' Geudimg wieumA ot

(A) . < Qsmanrieqliy BEC CupmenamT
B) Qeweopsg HH Guggrsmm
©)  seoLypss FEN Cuymanest
O sEH QS].GUT@_] f@u QBuirrenent

Which part of the Indlan Constitution the D1rect1ve Principles of State pohcy cons1sts‘7

% PartTV . (B Part I

©) PartIV-A @) PartV
Qi sirflweawinien 6bs u@ﬁluﬁlm é)wai& G]asrrmmasufﬂcwm Qg@uu®§gjw Cam_ur{paser

@ bQuUpmieTars? .
@ ueAIv - ®) uEHII
© ueSIV-A o ® uedY

SIFOGS/16 . 10 o ' A



: “24.. Matf:h the following .:
" (2) - New Industzial Policy | | L1 1078
(o) National Planm:ng Cémmittee ) _ 2. 1991
(c) I’ntegr'a’ged Rural Developmént Programme 3 1938

(d 42 Amendment : 4. 1976

@ O @ @

A) 4 3 ° 2 -1
® 2 1 - 8. .4
© 3 .2 1 4 -

- o 2 3 i - 4

Spaipaiaralpop Gurr@é»gﬂ%r _

@ U Oprdp Qandrens - 1 1978
| (b).‘ Cow AU LS G - | 2. 1991 |

© pEhdoahs @ga; ouenidfl Hrp - - 3. 1938

@ 42 s B td L 4 1976

@ ®  © (@

«

@ 4 3 2 1
® 2 1 .3 4
© 3 2 1 4
@ 2 3 1 4" : \
A | ~ i | SIFOGS/16
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25.

26.

27.

28.

The Governor of the stéte is appointed by~
(A) o The Chief Minister

/ The President of India

(C)  The Judge of High Court
(D)  The District Collector ’
wble) L EmBay FudlieuT

A) (y);}';GDGO'JLDé:EI:I' ‘

B) gawmdHus

©)  ewipflodm S

(D)  wreul gy Hwirr

Which unit is the primary and the ﬁrst of the Panchayat Ra;"

M Village Panchayat _ (B) District Panchayat
(C) Panchayat Union . (D) Gram Sabha
LEHETLISS! TTRIISSHET (PSETEUSGID SenauiiL <9{GD&SH‘BS.§]85Q®J§J 6Tg?

A)  Aymo uEEmusgl (B) eI LEHFmUSE)
© - eaprl 8 genflwid (D) &y senu

Who says Non “Elitist theory”?

(&)  Max Weber | © (B Pareto

& KalMarx . (D) AdamSmith
‘o wit Giguilant sideon” Gemium et LHHl sbluieui wimi? ’
(Aj wréev eSuir ) ) . B) uflGrr

(C)  snrited wTEED D) <y ibevids -

‘Simplify : %/12—8—%/@

@ Y4 ‘ o ® s
© . ¥ - 7 e
&E(HEGS . M%@I . ,

@ ¥  ® B
© o : ’ o 32

SIFOGS/16 12



« 29.. If C= 8, CALL = 28 then CELL = | . ‘

30 . | ®) 31

M 32 . o : M) 33
C =38, CALL = 28 crefléo CELL oy |

@ 30 L ®) 31

© 82 - @) 33

30. rI"he area of 4 triangle whose vertices are O(0, 0), A(3,0), B(0, 2) is.

6 sq wnits B) 2sq. (nits
% 3 sq. units . D) 12sq. units ‘
00, 0) A(3,0), B0, 2)-g a&é]a;mrra;as Qe @05@&@6@@@ gLy
A - 6r @G ' o B 2s &{a)@ )
Q) 35 s (D) 125 ewe

3'1.' The area of triangle Whose vertlces are (1, 2) (-3, 4). and: (-5, —6) is
- (A) 11 $Q. units - ' " (B) 15 sq. qmts
©C) 25sq. tlmts ' : ‘ % 22 sq. units-’
(1, 2) (-3, 4) wHDILD (=5, 6) @csga%]ueummg) (penensartss CsreanL. (p&CaTamddlen Lyl
@A) 1l& oG ) B) 15 F. 2G
©) 2bs oG (D) 22 & SAOG

32.  If the radius of one sphere is half of the radius of another sphere, then the ratio of their

Volumes 1s

@ 8:1 - . . " - B) 1:9
ﬁfls o O 17

20 G&n@uvrg,ﬁlem TIDTEIZ] mm@y_nrr@ C‘Sssrrewrgg]m 2pFsSled L) eréfled é{eup)‘rf)]m X &mmassrﬂaﬁ ’

aﬁ]ﬁgm .
@ 8:1 - _ ' ® 1:9
© 1:8 - ©) 1:7
A s | . SIFOGS/16
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33. Simple Interest on ¥ 1,000 at 10% fg)r 2 years is \

(A) % 1,000 ' : £ 200
© T100° (D) T 2,000
% 1,0008.10% aut_iy. aSsib 2 pan(EEnEE o a1l |
(&) % 1,000 T (B) %200 |
(€) %100 (D) % 2,000

34.  The radii of two cylinder’s are in the ratio-3 : 5 and their heights are in the ratio 2 : 3. Find . .
the ratio of their curved surface area ‘

M 9:5 " (B) 5:2

~2:3 | D) 3:2
’ @@ 2 (meneTudler %l‘jréjassir.@mg)(zu_s 3:'5 eramp 5SS id Sieubhdlen 2 wirkisar pepGu 2 : 3 erem
el fghsafiel@mridar ieupblen auanarLiugLLsefler 618z eramen? :
@ 2:5 - @ 5:2
© 2:3 ) s8:2

35.  The greatest number of 4 digit which is divisible by 20, 25, 60 and 100 is
(A)  2000. o - (B) 4000
© 5000 : p’ 6000
eramaer 20, 25, 601 Lng)gnm 100 Q%m au@GLHWD Wa Quiflu parrear@ Q& ereiwr
(A) 2000 '(B) 4000
(C) 5000 ‘ . (D) 6000

- 36. Fmd the misging term : ‘ ‘
.3, 15, 7, 63, 99, 143 - - S
y( 35 . ®) 27 .-
(C) 45 _ (D) 56 B
O craiTenantd; SrewT : B '

3, 15,7, 63, 99, 143
A 385 . ®) 27
© 45 : . @ 56

SIFOGS/16 | o . A



37.

38.

39.

The H.C.F. of x* +4x-12, x® +6x? —16x

1

@ w42 . e ‘

. G 52 - o '
©  2-x - L
O xx-2) | | | | -

% +4x — 12, % +6x ' ~16x mwummm@mﬁ@um(HCF)
(A) x+2 _ ' o . :
® =-2 o
(C) . 2—x - ) . ’ 5 o - .
®  x@-2) | P '

LY

At what rate of compound mterest per annum wﬂl a sum of Rs. 1200 became Rs. 1348.32 i in
2 years )

QA  7.5% ‘ - (B) 6.5%

& o @ . 5% - | .

a5, 1200 @1&@185(5 2 Gu@l_rmassrﬂsu €. 1348 32 Qzrens é]ml_ggrrm %GO‘OT@&S@ &L@ em._lq_ eﬁg,g,mga;'

GSFI'GUGT .
@ 7.5% e - B) 6.5%
© 6% | ® 5%

A, B and C together earn Rs. 300 per day. Whlle A and C together earn Rs. 188 and Band C

. together earn Rs. 152. The daily earning of C is

(A) Rs.68 . . .
(B) Rs. 150
(C) Rs.112

MRS 40

A, B, C epaufién gqm prenemu Gu(n)‘r.ormmm (. 300. A pmid Culléir m@mrran.o @ 188 B wHmb Cufiesr
leu@mrrcmo . 152 erafled Cu_cﬂsur R BIEMGTI GU(HLOTGILD

&) . 68
B 150
© @112 s
D) .40

s SIFOGS/16 -
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40. ’Which are the following pair is/are correctly matched :

List I : List 11
') Nobel prize — - 1901
(1) Plulitzer prize - 1917
(i) Magsaysay Award - 1958
(iv) Booker prize -~ 1968

(A) (@), (i) and (iv) are wrong
(B) _ (iil) only is correct -
(@), (ii) and (iv) are correct
(D) () only is correct _
Qemaumeuenatbmier ergl / ereney sflwims QunmhELeTerg

g I : v iqwed-IT
@) Gerud udls — 1901
@) yedierufls - - 1917
(i) wsCsts allmal — 1958
iv) yssrufls - - 1968

4) @, (i) wppd (v) seuprengl
(B) (i) wr G &f

© @), (i) opmb (iv) sfurersg
O G e @os

41.  Which of the following is correct?

(i) Nhtional Voter day —  January 25t
(i) World Population day — . June 1l

(i) World Heritage day ~ . May 18

@iv) National Technology day —  August 12

(A). . (i), (iii) and () are correct

” (@) only correct
(C) (iv) only wrong
. D) (@(v), () and (ii) are _correct

et peueaudOIET 6l eranau i

@ Csfu arssmant Hamd - spauauiil 25
() oswisa dgrans ;F;freif - oOer 11

(iil) e s urpbuilu Send - G 18 |

@iv) Csilw Czmied g Hand — &6l 12 -

*

A @), (i) wpmb (@) slwrerg
B) @ ol@o e

© () wilid poip

M) Gv), @ woHmb (i) sflwreng
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“

'42. Lokl Adalat was Introduced in

(A) 1950
P 1987
©) 1984 - -
™ 2000

“Goond Sigras CombpiefasiulL e

(A) . 1950

-B) 1987

© 1984

D) 2000

\
43, How many menibers are in Greater Chennai Corporation‘?

@ 150 s 700

© 125 o - (D) 200,

Glgatenen Qu@ wrpEITLS ersgamern o minslearismen Qamam(aTens?
@A) | 150 o - ® 100
© 125 S (D) 200

. 44. International Atomic Energy Agency (IAEA) is situated in

&) ' Paris '
(B) London ' . o o “
(C)' Geneva

Vienna

5=er;1(8§,66 a@[&é;ﬁ'a{m‘muq Sienopgiérar @b

(A)  unfev - " '

®)  odnd

(©) dmafeur

D)  eSuicren ' - ' - ,

AL - , 17 | L SIFOGS/16 -
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45.

46.

47.

Which is the World’s largest retail chain? -

(C) Reliaﬁce

(D). Spencers

2 edler LilsL Q‘urﬂu_: Aevavenp Frifled erg)?
(A)  eumewrrl |
(B)  ameor Cam

(C) rﬂcmsou_leirref;J

D)  ev@uaravited

The World Trade Organiéation (WTO) was set up in the year

M 1995 ‘ ®) 1996
. L \

(C) 1997 - . M) 1998
2 & auanis Sienwli (WTO) Grﬁg).qgg,@imq.eb .g;immésmau:LL_gj?
@) 1995 ' L ® 199
(C) 1997 ' - (D) 1998 °

Which of the following is incorrectly matched?

" (A) Road Research —  New Delhi
(B) . Environment - —  Nagpur
(C) Drug — Lucknow

M Sugar —  Hyderabad

seuprsL QuUFGSSILL (HeTaTens QD SIS :

: (A) Fmened QLIMOFH- — g Hevedl
®) - sppéepd - préyd
(é) LOWBES! - wéGan
D). srssery T DAL 173

SIFOGS/16 ' - 18



48.

7 World Consumer Day is celebrated on

- M March 15 .

49,

®) March 16
(C) March 14
D) Marchl1l

' 2 @& FsTCamT Hanors AeremrrLuhielg)

(A wrisl5
" ®B)  omiEl6
(C)  omité 14

(D) g1l

(A) Ethanol A\ o

(B) Sodium Benzoate -

. @ Ethancicacid

(D) Methanol

Which of thélfoﬂowing is.used to piep_are Vinegar as a preservative in food and fruit J:ﬁices?

Sipsaramualbile) ag) 2.qme| HHID LILpFETDISeT G]as;&md)-'@@ésa (S&r'résasl'_lu@Lb efllsm sumiass

: uwe&ru@ﬁm@?
'(A)‘ THBEMD
g (B) | Gemig Wb QuienGanGuiL.
(©)  appamis il
D) Quszeme

19,
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_50. “Volta” who invented electro .ch‘emical cell was a _
(A) Indian : . B) Aus'tra]ian
M Ttalian ‘ (D) Germanian '
“GeumredL_r”  eretm dlgpeprail Caflufluich iflensasms sam@lgssar. il by prels
Corpgeui? '
@ @pdur o (B) oSG
© @ggbwéﬁlur‘r ' D) Qemoreflwr
- bl. In a-good Auditorium the factor to be considered is
' M Acoustic effect (B) | Thermal effect
(©)  Opticaleffect . (D)- Wind effect
& Cpisdlurar semeurmdnhaE é‘iggésa;@;m_'m{j)g}jeh’, &TIbg ETemtl GemhienLOW THg)?
A) @l afleeray - B)  Qeuriu elanerey '

©) gofl ceere ' D) srpfler eQenaray

52. ICc;ﬁsider the following statements about galaxy
. 1. The galaxy is a cluster of brilliant stars
2. The approximate mass of galaxy is 105 kg ‘
3. The galaxy in which we li\}e is épiral galaxy
4. The galaxy close to the sun is Milky way.

Choose the incorrect code i
(A) Tand 3 B) 1,‘2 and 3

(C) 2,8and4 . h M 2 and 4
efamSen Srcraamar LHHL é@&an@@ FaHMIGSDET SpUIG.
1. efleimBar Syeir eraiiig) Quinelley eflemBer Qergg s
2. eflamiber Syaflen Henm qp&@mgﬂu 10% kg
3. Bmb eum(pLd efmSen & speflied Hyemrgid.
4. GilugsE <imsle o-drar aflamber fydr Lrdai elemSer Sier

seauprer GHuI_eaL CsbasHss
A 1 wpmib3 , B) 1,2 wpmib3
©) 2,3 wpmb 4 : D) 2whmpid 4

SIFOGS/16 | 26 ‘A



53.  Match List T with List I and select the correct answer using the codes given below the lists :

Li_st I List 1T

‘(2) - Magnesite - 1. Pbs
(b) Galena. ) 2. FeyO,
(c) Irf;p fyrites _ - 3. 'MgCOs
.l .' (d Magnetite ' : 4. FeSzv ‘

@ . ® © @

@ 3 2 4 1

® 1 3 2 4
. & 1 4 2
o) 4 2 1. 3

Lagued T -gg uiliquidd I 21 e Quingpgdl, %@Q Qar@ésinc_@Gerer @HluSGaamerd Gla;r’r'ea'&r@‘&rﬂu_lrrew

ellenLenusg CabolsE :
' 1
'LJL'._Lq‘_UJG’D I : i guied IT
(a) (Bmé;’smmglL “ ' i X 1. -Pbs
@ seSan - Y FeyO,
© @by muapids . 3 | MgCO,
‘. d) Guéeamet N 4, " FeS, . '

@- ® © @

A 3 2 4 1
@) 1 3 2 4
© 38 .1 4 2
© 4 2 13
A o . S22 - SIFOGS/16
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54. 'Among the following pesticides, which one is thé least persistence in environinent‘:?
() BHC . . (8) DDT '
(© Sevin #” Pyrethroids
Spssan_ LFHAsToddEeld, o5 s G@PHS ST SHHIEGDEID HhE QBHEED?
() BHC - . (B DDT

(©) Q‘Eaﬁ]eﬁr : _ - D) eulfmd s

55.  Which is called as “energy currency of cells”?.

(A) FAD A (B) NAD

() NADP G ATP - o
Qemedlan “pHme Brearubd” erar e pssiLhelsl aTgl? : '
4) TFAD . (B) NAD

() NADP = - . - (D) ATP

-

56. Match the following given under Column A with Column B and select the correct answer

from the codes given below : . - \ .
Column A Column B '
' (a) Leaf tendril 1. Opuntia plant
(b) Leaf spines 2. + Pitcher pléllnt
(¢) Leaf surface 3.  Utricularia -
(d) Bladder 4. Peaplant
) ® © @
4 1 2 3
B 1 3 2 4
C) 2 © 4 3 1 .
® 38 .2 1 4
9fey I -emps DNay - QuigssS, SpssarL GOl g Gps sfiurer efoLmw CaibEsHéEs :
9flay I . Gifay IT SR
(@) Qevarls LHMSHDIE 1. sOuTEHs sdref
(b) Beve apLser 2 GHemeus STouLd
(© @ene Ligiiy 3. gf_rﬂ@@s\)ﬂuw
(d eu : ‘ 4 LI L rewfl
@& ® © @
A 4 1: 2 3 .
3B 1 3 2 4
©) 2 4 3 1
®) 3 2 1 4

SIFOGS/16 ‘ o 22 A



57.

Consider the following statement :

Assertion (A) Ret:"tndpathy is the disease of the retina in Human .eye

. Reason (R) :  Persistent hypertension and diabetes causes retinopatily

Select your answer according to the coding scheme given below.

Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) * Both (A) and (R) are true and R) is not the cortect explanatlon of (A) .
(G (4)is true but (R) is false ,
D) (A) is false but (R) is true

Spssan, ansduiismens saiaf

D) (A) soun < enmed (R) e'ﬁﬂ . T . - -. A

58.

FpHm (A) . m@oﬂg gt et e eﬁl@g@mguﬁlm FHUpD LTSt Ql;qu.Gmrru@ GFGDTL.ILI@LD

sryentd (R) 2w @Ug,g, <ipssd wppnd Bl¥ey Gurd Cprisdr QpgCamueow -
- THLOSEADS. S

g@g} G]aarr@ésasﬁlul'_@mm GO 1 sflwran oenL_amiug Gg,frj;@g,@

A . A womb R) @rfem@m &, Cuearb (R) ereug) (A) G:Eﬂg)@ sRlwrer eflardaid
B A womd (R) @mwr@r_o &fl, Cogiw (R) eremagy (A) @S]y_n@r, scrﬂu_lrrm eNen&sioeen
©) A #f gyeme (R) saug - :

”

Which of the folloﬁing statements about ‘NaHCO,’ is TRUE? .

T . Tti is an 1ngredlent in antacid
II. It is used to make cakes and bread soft and spongy
HI. It is used in softemng hard water

. g#” Tand Il | . (®) LandII -

59.

() MandIII . .' (D) IIonly
‘NaHCO;’ upflw Spsan. sapmiseied sfgaanal cianel?

L Qs onflofsado s dar g LESu@unmer L
II. Qg Css, Armigsmar Qparenbiins LIHOIEDS

L = @& sgearpeny Quenatyrs wrhpd LweGEDS!

@A)  Iiopgb IT | ®) Tuwpgb I
© T wpgd I - (D) loio

The most centra]ly located merld_lan (82° 30 E) at Indla passes through

(A) Ahmadabad Allahabad
(C) Hyderabad o (D) Auranghabad ‘
@‘[ﬁﬁum‘j}sﬁr 5OGa Qeadgid s @ae&]umn&n (82° 30 él) Srra;&;a;@asrr@ . @J@GUJ.
QFdmg. : , - .
. (A)- asamgrrurrg ) : - B ‘swsmung
(C) wensyrUTE . T D) qemrEsLTS

23 " SIFOGS/16
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60. © ————————isone wherein very little investment is involved.

(A) Large scale industry

(B) Small scale industry -

. W Cottage industry
(D) Medium scale industry

»

Qsmfle iss @mmgbg, &S0 AsTaTL gl

@ Qu@Sow . .
®  Apdaw
© @gon

D), wsdw ﬁmml

61. Harappa in Sindhi means
(A) Garden city ' (B) Port city
'. % Buried city . D) Civilization of corporation
- angliLT eep SlHEl @mn@.ét QerdrensE — ~GrG'trrg @uim(per.
' (A) LLBIST BSTID - B sopeps BSTLD
©  yesyeTL BEyLD ' | (D) LOUBST HISTSD
62. A place in Rajasthan where you can see Jain architecture
(A)  Girnar ' (®) Hathigumba
(C)- Saravana belagola - % Mount Abu
Qe graned osmrs FHiikiser sreTLILGb GLib
(A) Ao - B) aend@bur
©) Egmanz;rG]um@a;weuw D) weye oY

63.  The city where the first Sangam was held in '
(A) Koodal Nagar . » Thenmadurai

(C)  Madurai - ' (D) Kapadapuram
W5 srhisd pa L ubHp BaTD . '
A sl BT : B) Qzerogey

©) . wger D) . sum_Lyb

SIFOGS/16 4



65.

(@) 1246

@A) 4 3 2 1
® 2 1 3, 4
© 3 .1 4 .2
D) "2 1 4 3

Match'the following :
-(a) 1206 . 1. Htumish
“(b). 1211 2. Qutb-ud-din Aibak
© 1236 3. Balban
@ 1246 4. Raziya |
(a) (b) () (d)
A 4 3 2 1
®B 2 1 3 4
(C) 3 1 4 2
72 1 4 3
QUGS : )
A | ‘ B -
@) 1206 1L @asisides
@ 1211 2. GsLSaTmUs
(@ 1236 3. L
4.  géhur

@ ®» © @@

Who was the last ruler of Vij ayahag_ai?
(A) Thirumala '
(B) Ramarayar A

M Srlrangar III

(D) Vengadar II

nwpsT irfler sent & yFi? -
@  Hwer

B)  mogiT

©)  apempmb i

D) Greawmd Qe i

25
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66.  The events that led to the Revolt of 1857 beg.an at

(A Meerut : Barrackpore

(C) Barailley . . (D) Lucknow "
1857 <pld peir® Qusd Lyl A Qeuly S5 @b '

A) S ) . B gy

©) u@pied ‘ D) wsGam (amaryi)

67. Home rule league in Bombay was formed by

(A)  Nehru ., Mrs. Annie Besant
(G Tdak (D) Bhbarathiar -

uburudé seremt  swasas Carhnelsseut

@A)  Csm B) Swwd e Quea -

©) Bawsi ~ - O umfum

68.  Which one is false in the following?
Thanthai Periyar is a
I Social reformer
II. Freedom fighter
1L Politician
IV. Nationalist ' '
@ 1 - | : ® I

o’ m R\ ® IV
 Sssa spiler eTEl SeupTars)?
spang Uil g b

I Feps STHmEseuTS
1I. efPseme Gumgmii ey
L ewrdludeund
IV.  Gsfweind.
@ I . . ® I
© o | D IV

69. Who revived the celebration of “Ganapathi” and “Shivaji’; festivals to arouse national

feelings? .

(A) _ Gopala Krishna Gokale . (B) Surendranath Banerjee
Bala Gangadhar Tilak ~ : (D) M.G. Ranade

“sarudl’ wHmib “‘SAeairg)” uaﬁrrqmé;s;eh gpeoLd Ggeﬁw‘a.wﬁémﬁ SiehriqLeuIT

Q) Csmuradlmegenr CamaGe _ B) &CrpSymrs umeniad)

©) ureshsnsy Hosi D) eb.ggranG

. SIFOGS/16 ' 26 : | A



70.

71.

72.

‘Communism in Health’ means, health must be pr‘oivided

W

(© |
@)

according to life expectancy .

according to the need and not accord_mg to the ablhty to pay

only to the children
only to the aged people

‘ESTHTIL ungiajaL e’ Gre'mug,j 2.1_epeld igrar Gewey

@A) -
®)

©
D)

UL sTFme QUTHISSHHSHD

waseiler GCemasGapu Saflssii Gmmrr@m | wéser @&gug,gj ;_F;]ma)ss@ g@‘mgmrr Curméd

é{@JGI)!TLDGD

GRHMBSEHEHE WL (HID @;aﬂa;asuu@geo
QULIgTaeUTHEREE LG SHellssliuBgd -

Among these two, Economists one is known as Father Economics and the other is known as
Father of Modern Economics. Find the correct combination.

A
(B)
©),

©
(D)

b..

Adam Smith — David Ricardo
*J.M. Keynes — . T.R. Malthus
Adam Smith - Amarthya Sen
Adam Smith | - J. M. Keynes

k4

QLD 6oLbld — CLei MssmiGLr -
J.M. QasuQénen - TR. LTDSE -
ENELY: LA =" oubAgwr Qeen

<UD el — J.M. Qaulenev

* With the help of the following clues find out ‘the kind of budget :

‘ lﬁlmeu@u) @anamuileh emeur Qum@metTsTrSlen SHeng WHDPEUT BHeier Qurr@mrrg,m;rgﬁm gn_amg
- ereIIL(HQUTIT. &rﬂu_nmﬂ Eenemreni @g,ng,@g,@
A
®)

Modern economists argue that it is very useful for achieving economic stability
The govgrnment’s income or tax revenue and expenditure are not equal”

(B) Balanced budget
y Unbalanced budget

&Cys Gsr@ssuul@erer GHlLyselier oiglLenL i Grpg, GUANSWITET  GUIGY~ G]&euqu, Qu_m

- (©)

uBB aire;-Osmals St ib

a. It is called a surplus budget
It is also a case of deficit budget

c.

d.

(A) - Revenue budget

(C)  Zero based budget

SiembgIdrens) ereim STy, :

a.. oufl eugey- Gem)sq S L1b eramiuGib |

b. LHOTEGmD eupe|-QFwal S eremmib é\;mgpaaasuu@m

c.

. BB&EWD erenm peler QUITIHETTSTY CUEIETTSET S(HE|E anmanT

d. <ndler aumeunub-GQeamaib sinidlerenio .

LA eugeumd eurey-Qemeys il b

Bbs eupey-tewe S G @@ prigen QuTmeTTgTTLD Em@mmmm SIEHLIL uu.:@;mmgrras

(B) - Finfhlana mvm-@smmg gr_n_fo/'

D) swarpHy cuiei-Qeaays HLL b

27
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73. Which Constitutional Amendment changed the Preamble of the Constltutlon of Indla"

' M 42nd Amendment ’ (B) 61t Amendment
(C)y T2 Amendment ‘ (D)  74* Amendment
JeNGES a&@w@mmulﬂiéﬂ aThg 69l el enruiled LomHLD Qg emeng)?
@) 4205 Ao ‘ (B) 6lag Amsstd -
©)  T2aug Hpésh . @) Tdaug dossd

74.  The Cantonment Board are admlmstrated by Government.

(A) State Goverr_nnent ‘(B) ~ Union territories
W Central Government ‘ (D) Local self Government
@\rTaRies Fal UTHWRISET <@ Hliteudlssinpslenpen.
@A) wifle siemsb LB weluer GyGsstisd
©) wsHu sireThIsHD - ) ‘e_r,en.a;u_i <O FFTHRIGD

75. Match the following : .
" Gram Sabha

(a) - Balwantrai Mehta 1.
(b) Asokh Mehta 2. Nagar Palika
(¢) 73" Amendment 3. Two-tier system
(d) 74t Amendment 4.  Three-tier system

S O R O RO N )

" I 1z
(B) .3 4 2 1
© .2 -3 4 1
@) 1 2 4 3 .
Slpeumeuareuhenn ALITGSS!S : )
(@) uoepsrmi Gossm 1. Ao LEhFETLSS R
(b) =Cers Cussr 2. psl unels
(© T3eug sl H(mSsid 3. @r,rewr@ D& Q,ocm;{) )
(d) Tdeug s Hmssid 4. peapHEG e ' | ' .
@ b @ G
(A) 4 3 1 2
(B) 3 4 2 1
) 2 3 4 1

® 1 2 4 3

SIFOGS/16 » 28 ' - A



76.

77.

“Match th;e following : =~

(2)
(b)
(c)
(@

(A)
(B)

@)

3

o

s 4 . 2
1

Author

~ Plato 1.
Rousseau 2.
Niccolo Machiavelli 3.
Jean Bodin 4.

(a) (b) © (d)

1. 2
2 4

3 p

lﬂﬁh@@mmmg}mm QurBHESS :

(@

(b)

©

(d)

A
(B)
(©)
D)

In France

A

®)

W W o =

< Aflwi -

QGG ‘ S

epGam ' 2.
‘rﬁl(ﬁasrr(?%orr wrésEhuGeuded 3.
e GLImg 6T ' : 4.

@ () @ @

| RN
[ S /NN

= DD = .00

Single party system

_ Bi-party system

V "Multi-party system

®)
Qrrendled

(4)

®) -

©
@)

All the above -

Q@ L& wenm
B sL8 (pavp
Lia GU_8) e

Cuopasair &émmggn_b

N R

- Books -

Six Books on the Republic

" Prince

Republic

Social contract

3| (2

GlgLIrs Ll um) g,gd)ase'rr
@\aralyae

@gugs

PSS @uu‘ﬁjgm

system is in practice.

apadp pent_(panmudled 2 eramg.

29

. SIFOGS/16

o [Turri over



' 78. The ratios of the respective heights -and the respective radii of two cylinders are 1 : 2 and
- 2 : 1 respectively. Then their respective volumes are in the ratio

. A 4:1 ' B) 1:4
2:1 D) 1:2
Qe e mmersaliar 2 wipmsear wapGu 1 : 2 whmbd jeupHler c@clpmmesm @Gﬁ)g)@u_l 2:1 GI'GOTD
efdsmisailer Gapnden sjeubplen ser g,qerrma;@ﬂso'r N EAEAT
A 4:1 : B 1:4
© 2:1 D) 1:2

79. If 12 men and 16 women can do a piece of work in 5 days. 13 men and 24 women can do it in
4 days. Then the ratio of the daily work done by a man to that of a women 1s

A 3:1 ®) 2:3

. % 2:1 C D) 4:5
@ CeuaneaeniLl 12 <, ETH(EHLD, 16 Quetasemid. 5 prisaligibd, <Gy Geoumaamw 18 yamsEsd
24 QuamsEnh 4 prlsefle Qeiig pusipTiseT erald @ prafle e, Fuigll HmTHEHSHE@GL

QueTsEhEELLTET 65lES .
@A) 38:1 . B) 2:38-
<€ 2:1 - D) 4:5

80. A'and B can do a work in 12 days. B and C in 15 days. C and A.in 20 days IfA B and C
-work together they will complete the work in

A 156 —g days ) B) -5 days

/,IOdays ‘ (D) ngays

@ Gauamarenws Aupid, Bujb 12 prsefigin Buyb, Cuyb 15 praafigid Cujd Auﬁy 20 prlsefigh
GELSTED epeu(HD Compgy 2ibs Coumaanu) Gelig) 1l &G0 BT ser

A) 15%;@@ - ®) 5prsar .

(C) 10 prisar- A D) 6 % [BITL_&6iT

81.  Iftwo third of four fifth of seven eighth ofa numi)er fs 63 then thé number is

(A) 630 * B 360

135 . D) 35
61 GrevoTamtlen qgoezrrp_‘)]ev @i;rmr(b\ LBl @ gpmb e ‘rf,rrm@ LITIE GTI_Lq_G‘l) (1 LG 63 GI'GDﬂGI) caum@@mmr
A) 630 . _ B) 360

(C) 135 ' D) 85
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83.

84.

: 37 I16
%? ‘ R ® 3

5l+§ of 8

2 4 9
. . 25
“ 7 _ : ®B) e

1 3 8

5ot 89y ;

@ 7 '_ ® Z
o & S o B

Ifin a class students of 50, 28 were glrls and rest were boys, then the percentage of boys is

(A 46% . . M 54%

© 64% .o ' ) 45%

50 wiamre wremredamen Qe g(m ci@Lild 23 Guir wranefser, HDaITser wTamreliTadr eTrafld,
wrawreuisafler #5eisn ‘ : ) ; _ - " |

B)  46% | ®) 54%

©). 64% O 4%

Find the rate percent at which a sum of money becomes % times in 3 years.

. W 12% -'" ' N ﬂ(5%%

6/% L . ) 24%

(M aem)rr@rrgﬂ 3 m@t._g,ﬁm T LOL_BISTSH %@Qmmﬂm DISH6H Gl lg- aﬁlaﬁlg,m s'reueumm?

@) 12% | | .<B>-5%%
'5/ 0 . . . ‘940 |
6 AA] , . D) '24%

st - SIFOGS/16
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85. Find the area of a right angled triangle whose base is 12 cm and hypotenuse 13 cm

M SQcm2 - ® 40(31_:12
(C) - 50cm? ) ' D) 85cm® -

2@ QanGaran WaGaransHer SiqliL&ab 12 Q.8 siarb 18 Q.18 erafld Lty smedr

(A) - 30Qs8 .®) 40Qs8
© 50 QsE ; ®) 35 Qs8
86. If2:3=2 3:2-C 4:3-2 then1+2=2
C B

, 3—:—2:% OHHID 4—:~3=%— srstsﬂm 1+2=2
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87. A book contains. 144 pages. Each page contains 25 lines. How many pages will the book

contain if every page has 24 lines?

(@A) . 120 : | ®) 130

pf 150 @) 140

euGlaum(s ué;asgr,qg@ub 25 auflgeners. AamemL. Lgsssdear Corgs véshiser 144 @{C?;g Qe
eatleumm Lss5SHQID 24 auflsaTrs QEBHSTED qggﬂgﬁe%} USSEIGET GTEUGIETRUTS ‘@@;és@fo?

@ 120 O ® 130

(© 150 ' _ D) 140
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88.

89.

90. ..

Two tabs can fill.a tank in 45 minutes and 60 minutes. Another i;ap can empty it in

. 80 minutes. If the.tank is empty and all the 3 taps are kept open i how much time the tank

will be ﬁlled
(A) .3 Hrs ‘ o (B) 4 Hrs
. (C) 6Hrs ' - (D) 1ZHrg

@ ERMUISET @ Qgrn_mramu §66ﬂ§§66ﬂ@u_l wpenmGu 45 ﬁuS]L_Lo 1dmiLb 60 Hiflrsafld ‘r_é]r;ru;_faﬂg)gj
HEADT(H G 30 flflLgdléd QeualGupppgl. Asmiig srailuns @@5@&) Gurgl 3 GUTUSEED
SoiSmbsred Qs Hlybe GTQJG)JGFFQ_] Crrorgh? _ '
M 3 e B) 4w o
©)  6uwef o O 1Zoed

" 784 +9=78% of 500

263 L ® 23

A)
7 362 . (D) 682

784 +7 = 500 Gan 78%

W 23 o ® 236

(©) - 362 | D) 632

A bicycle marked at Rs. 1,506 is sold for Rs. 1,350. What is the percentage of discount?

@) 5%

®)  15% \
& 10% )

® 20%

R Lﬁ]ﬁmmnq_u%m aflaney 5. 1,500 eraimm @HlEsLLCHerers. @g,@mafr ep. 1 35085@ eﬂ]mgprreu SET(@FLIIg.
F5EIFID GTemen? . : .

W 5%
® 15%
© 1%
©  20%
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91.  Which of the following are the National sports Awards?
(i Rajiv Gandhi Khel Ratna Award J
(1) Arjuna Awards .
* (i) Dhyan Chand Award

(iv) Dronacharya Award

(A) (), (1) and (m) only correct

(B) (@) and (i:V) are wrong

P76, (), Gid) and Gv) correct

(D) (i) and (ii) only is corre(:t

1etreumeuemeumIET eTg / erenay Caalw efleneamum’ () L L_EigeT
@) el srpd Caer psenT UL

(i) @{ﬁgvmrr L.II'_!_Lb .

(i) swren sHE LI L LD

@v) sCyremrremflm o

@) @, ) oppid () w Gib of

®) @) wppt> () papreng

(©), @), @), @) wpgd @) sfuneng
(D) Gi) wpgd (i) o id o

92, Mohenjo-daro means
(A) Garden City
(B) Port City
M Mound of Dead
(D) ° Buried City o
QuonsgreGsnGar eraugser QUInmar
(A)  yRsTBSTD
B - sgeopys peybd
© B6smG G
D) yegwaT. BSID
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93. The total'permanentmefnbérshib of UN (United Nation) Sécufity Council is

@A 5
®) 10
M 15

™ 20

o&EW BrHseT HpssHlen urrgw;miu.g;muuﬁléo*r G]Lorrgg Blbsy 2 mrnleriseflen eretmrenilGeans

@
®) 10 )
© 15
®) 20

94,  The Headquarters of IMF is Ioca{ted in

g K Fr-ance '

(B) America _
(C) India

®) Japan
&freﬁ(%g& prennu HHusHan (IMF) seneveniowisid év{emvmgbgehm @b

@)  Qymens | .

(ﬁ) o@uflssn

© @ppur. e
© oo | |
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95.  Which of the following is called rectified spirit?
(A)  100% pure ethanol
® 15% alcohol and rest water
M 95.5% ethanol and 4.5% water .
(D)  90% ethanol and 10% methanol
Spsenamueupdled erflemymuld eran jenp&aliLBeug 615?
(A)  100% gmu erggermed
B) - 15% ydsenmd whmib 85 Sementt
©)  95.5% arggenmad opgith 4.5% seimai
(D) 90% ergganmed wpmibd 10% Gloggemted

96. Which one of the following element is not used in the manufacture of defence equipments?
&) . Titanium ¢

(B) ., Zirconium

/ Sodium

Manganese
LrgIsTCIbOSTaT Lt _Ssamensemar 2 (Heurssll UL6TURLD o Garsd Seaorsgl 6TE?
A) el GLeflwib ‘ ‘
| B) arGsrafuid
(C) Gomguid
D) wrisds

97. Types of Authority is explained by

(&) Karl Marx 2 Miax Webor
(C) Jean Bodin ' (D). Adam Smith
 <pepantoulieir AUGHEBLITL DL LD &xﬁ)]u;szr ;urrr'r? R
(A) - sited ridEen ) (B) DIT&E GILIT
(C)  semn Guimgaebr D) <bevfs ) '
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98.

99.

100.

Which one of the following toxic substance released in life cycle of plasmod.mm and
1espon51ble for causing the disease Malaria? '

M Haermiozoin

B) Concentrated Hydrogen Perox1de
©) Methyl iso cyanate

(D) Phosgene

ED&ETEMID  BEFEHL @urr@l_asmﬂa) Grgj QearmevGomquwigslen  ourpdmes  sLpHélufen GLJ[T@J‘
Qauaflitn @, m@eurﬂu.vrr@g,rrmm ugeus Gelilpg!? :

(A) gﬁ@m rGamuldler ’ . ' o - ,

- B) il eanl rger Lgrsamen

©)  Qusdd nGer swGan
D)  umev e

Which of the following is a high water content vegetable?

‘- (A)  Carrot

#2” Cucumber

(C)" Green peas

(D) Tomato _ - ]

| §@é;&;rre&arumrj)@6b @@&amm Bitggenanio Qamenr smisH 6rg)?
A GCasr
B) Qeudrerf

© ﬁé@m&ﬁ ul'_L_rrsuuﬁ

D) sasrai

Which one of the fo]lowmg is mostly sub]ected to recycling?

M Paper , " (B) Glass
(C)  Polyester , (D) Polythene
. a%g'pésésm%rusurj)gﬁkb gl 2Fls sierefler oMIFPHA (peDEE 2 L LiGSSILIGHDSH? |
(A) asrréllgl_b ‘ B) serawrmg
(C)  umal@uebir L M) - uredlgSen
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